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PART – I
1. A few thousand years ago, there was a huge river ‘Saraswati’ flowing in India. Now it is

not there. What is the probable cause of its disappearance ?
(a) Global warming (b) River capture aided by tectonic activity
(c) Damming by humans (d) Permeability of the ground below

2. What is ‘dun’ ?
(a) A plain land within mountain (b) A transverse valley cut by river
(c) A recent valley (d) A wide longitudinal strike valley

3. The normal magnetic polarity epoch older to Matuyama Reverse and younger to Gilbert
Reverse is known as
(a) Gauss Normal
(b) Brunches Normal
(c) Hutton Normal
(d) There is no such Normal Epoch and Gilbert Reverse directly passes to Matuyama Reverse

4. Isostasy term was first used by
(a) Airy (b) Wagner (c) Dalton (d) Pratt

5. What are the two most abundant elements in nebula (gas clouds) in the universe ?
(a) Hydrogen and Helium (b) Nitrogen and Oxygen
(c) Oxygen and Silicon (d) Iron and Nickel

6. Pot Holes are characteristic features of
(a) Youth stage (b) Mature stage (c) Old stage (d) All of these

7. Which of the following are barchans ?
(a) Deflection Basin (b) Oasis
(c) Crescent shaped dunes (d) Sand storms

8. Known maximum age of the continental crust is about
(a) 2000 Ma (b) 3000 Ma (c) 4000 Ma (d) 5000 Ma

9. Which of the following is associated with volcano ?
(a) Tillite (b) Morain (c) Varve (d) Tephra

10. Which of the following is formed by chemical weathering ?
(a) Morains (b) Bauxite (c) Gorge (d) Bajada

11. Esker is a type of
(a) Moraine deposit (b) Eolian deposit
(c) Glacial deposit (d) Fluvial deposit

12. Guyots are formed in
(a) Oceans (b) Mountains (c) Desert (d) River Bed

13. Co-existence of which of the following pairs of minerals is rare ?
(a) Quartz – Orthoclase (b) Quartz – Hornblende
(c) Quartz – Nepheline (d) Quartz – Biotite
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 – I

1.    ,   ‘’               
      ?
(a)    (b)    
(c)     (d)     

2. ‘’   ?
(a)      (b)     
(c)   (d)     

3. ‘’     ‘’          
(a)  
(b)  
(c)  
(d)                  

4.        :
(a)   (b)   (c)   (d)  

5.     (  )             ?
(a)    (b)   
(c)    (d)   

6.      :
(a)    (b)    (c)    (d)  

7.      ‘’  ?
(a)   (b)  (c)   (d)  

8.          ?
(a) 2000 Ma (b) 3000 Ma (c) 4000 Ma (d) 5000 Ma

9.         ?
(a)  (b)  (c)  (d) 

10.         ?
(a)  (b)  (c)  (d) 

11.       ?
(a)  (b)  (c)  (d) 

12.      ?
(a)  (b)  (c)  (d)  

13.          :    ?
(a)  –  (b)  – 
(c)  –  (d)  – 
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14. In the Moh’s scale of Hardness out of those given below, the mineral of which hardness is
a non-silicate ?
(a) 6 (b) 7 (c) 8 (d) 9

15. Which of the following minerals is not an example of phyllosilicate ?
(a) Pyrophyllite (b) Kaolinite (c) Chlorite (d) Anthophyllite

16. Chiastolite is a variety of which mineral ?
(a) Andalusite (b) Kyanite (c) Sillimanite (d) Anthophyllite

17. Euler’s Formula is
(a) F + A = E + 2 (b) F – A = E + 2 (c) F + A = E – 2 (d) F – A = E – 2

18. Becke line method is used to determine the
(a) Bireferingence (b) Double refraction
(c) Pleochroism (d) Refractive Index

19. Which of the following is the weakest bond ?
(a) Ionic Bond (b) Covalent Bond (c) Metallic Bond (d) Van der Waal

20. Which of the following accessory plates is used to obtain interference figures ?
(a) Gypsum Plate (b) Bertrand Lense (c) Mica Plate (d) Quartz Wedge

21. Which of the following minerals is isotropic under the microscope ?
(a) Garnet (b) Plagioclase (c) Biotite (d) Quartz

22. Which of the following precious mineral pair has same composition ?
(a) Sapphire – Agate (b) Ruby – Opal
(c) Sapphire – Ruby (d) Ruby – Agate

23. Which of the following mineral has highest specific gravity ?
(a) Wolframite (b) Pyrite (c) Magnetite (d) Haemetite

24. Which of the following is an amorphous mineral ?
(a) Opal (b) Cat’s Eye (c) Topaz (d) Lapiz Lazuli

25. Ilmenite crystalizes in which crystal system ?
(a) Orthorhombic (b) Tetragonal (c) Monoclinic (d) Trigonal

26. Of the following, what is the nature of Indus-Tsang Po suture zone ?
(a) Convergent plate boundary (b) Divergent plate boundary
(c) Plate consumed in a trench (d) None of the above

27. On a geological map, with an uneven topography, a fault is shown as a straight line. What
shall be its dip ?
(a) 0 (b) 45
(c) 90 (d) Cannot be determined.

28. The strike of a sandstone bed is measured as N 45 E – S 45 W. The students were asked
to find its true dip direction. Which of the following is the correct answer ?
(a) N 45 E (b) S 45 W (c) N 45 W (d) None of these
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14.                ?
(a) 6 (b) 7 (c) 8 (d) 9

15.            ?
(a)  (b)  (c)  (d) 

16.       ?
(a)  (b)  (c)  (d) 

17.     :
(a) F + A = E + 2 (b) F – A = E + 2 (c) F + A = E – 2 (d) F – A = E – 2

18.      
(a)   (b)   (c)   (d)  

19.         ?
(a)   (b)   (c)   (d)   

20.              
(a)   (b)   (c)   (d)  

21.         ?
(a)  (b)  (c)  (d) 

22.             ?
(a)  –  (b)  –  (c)  –  (d)  – 

23.           ?
(a)  (b)  (c)  (d) 

24.         ?
(a)  (b)   (c)  (d)  

25.          ?
(a)  (b)  (c)  (d) 

26. -       ?
(a)    (b)   
(c)     (d)     

27.        ,            
   ?
(a) 0 (b) 45 (c) 90 (d)     

28.      N 45 E – S 45 W        
                ?
(a) N 45 E (b) S 45 W (c) N 45 W (d)    
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29. On a granite basement younger sedimentary rocks are deposited. What will be the structure ?
(a) Non-conformity (b) Angular Unconformity
(c) Disconformity (d) Conformity

30. The ratio of the transverse strain to axial strain is called
(a) Poisson’s Ratio (b) Modulus of rigidity
(c) Bulk Modulus (d) Young Modulus

31. Tectonic boundary between Aravalli and Vindhyan is called as
(a) Main Boundary Fault (b) Great Boundary Fault
(c) Main Boundary Thrust (d) Frontal Fault

32. In Mohr’s diagram, diameter of the circle represents which of the following ?
(a) Differential stress (b) Mean stress
(c) Arial stress (d) Hydrostatic stress

33. Which of the following fold has horizontal axial plane ?
(a) Chevron Fold (b) Symmetrical Fold
(c) Recumbent Fold (d) Homocline

34. The angle between the Fault plane and imaginary vertical plane is measured as
(a) Hade (b) Hinge (c) Heave (d) Slip

35. The crust consisting of lower Gabbroic composition overlain by the Granitic composition
is found
(a) below the oceans (b) below the continents
(c) below the mountains (d) all over the earth

36. Which of the following is not a divergent plate boundary ?
(a) The Great Rift Valley of Africa (b) The East Pacific Rise
(c) The San Andreas Fault (d) The Mid Atlantic Ridge

37. Mark the correct sequence of the following structures from north to the south in Himalaya :
(a) ITSZ, MFT, MBT, MCT (b) MFT, MBT, ITSZ, MCT
(c) ITSZ, MCT, MBT, MFT (d) MCT, ITSZ, MFT, MBT

38. The discontinuity between outer core and inner core is known as
(a) Mohorovicic Discontinuity (b) Conard Discontinuity
(c) Repetti Discontinuity (d) Lehmann Discontinuity

39. Which of the following zone occurs between Himalaya and trans Himalaya ?
(a) Indus Suture Zone (b) Central Crystalline Zone
(c) Tethys Zone (d) Siwalik Zone

40. Which of the following rock is found in Island arc ?
(a) Komateiite (b) Albitite (c) Syenite (d) Andesite
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29.              ?
(a)  (b)  
(c)  (d) 

30.           :
(a)   (b)  
(c)   (d)   

31.            :
(a)    (b)   
(c)    (d)  

32.           ?
(a)   (b)  
(c)   (d)  

33.         ?
(a)   (b)   (c)   (d)  

34.              :
(a)  (b)  (c)  (d) 

35.           ,     ?
(a)    (b)   
(c)    (d)   

36.           ?
(a)     (b)    
(c)    (d)   

37.                :
(a) ITSZ, MFT, MBT, MCT (b) MFT, MBT, ITSZ, MCT
(c) ITSZ, MCT, MBT, MFT (d) MCT, ITSZ, MFT, MBT

38.                :
(a)   (b)  
(c)   (d)  

39.              ?
(a)    (b)   
(c)   (d)  

40.           ?
(a)  (b)  (c)  (d) 
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PART – II

41. Earliest life on planet earth belongs to
(a) Green algae (b) Cyanobacteria (c) Trilobite (d) Sponges

42. Ediacaran Fossils belong to
(a) Permian Age (b) Palaeocene Age (c) Precambrian Age(d) Pliocene Age

43. Tall columnar stromatalites generally develop in
(a) Intertidal setting (b) Deep marine setting
(c) Supratidal setting (d) Subtidal setting

44. Which of the following trace fossils are indicators of shallow marine (Intertidal)
environment ?
(a) Skolithos (b) Nereites (c) Helmenthoids (d) Polyodiction

45. A strata containing Productus, Spirifer, Fusilina and Bellarophon can be assigned to
(a) Devonian (b) Cretaceous (c) Permian (d) Silurian

46. Consider the following :
(A) Paradoxides (B) Perisphinetes (C) Nummulites (D) Archaeocyathids
The correct order of these in ascending order is :
(a) D – C – B – A (b) C – B – A – D (c) A – B – C – D (d) D – A – B – C

47. Specimen of a species from the same locality as its holotype is called
(a) Neotype (b) Metatype (c) Paratype (d) Topotype

48. Which of the following branches of Palaeontology deals with post-mortem study of fossils ?
(a) Palaeobotany (b) Ichnology (c) Taphonomy (d) Micropalaeontology

49. Sinistral coiling is found in
(a) Pleurotomaria (b) Natica (c) Physa (d) Cerethium

50. Which of the following is exclusively marine ?
(a) Gastropods (b) Cephalopods (c) Pelecypods (d) None of these

51. Old age fossils deposited in the younger age rocks are called
(a) Trace Fossils (b) Living Fossils (c) Derived Fossils (d) None of these

52. Which of the following is a living fossil ?
(a) Arca (b) Cardita (c) Lingula (d) Trigonia

53. Which of the following  process involves replacement of original structure of organism
molecule by molecule ?
(a) Carbonization (b) Petrification (c) Coprolites (d) Moulds
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 – II

41.           :
(a)   (b)  (c)  (d) 

42.      :
(a)   (b)   (c)   (d)  

43.    :   :
(a)    (b)    
(c)    (d)   

44.                ?
(a)  (b)  (c)  (d) 

45.    , ,           :
(a)  (b)  (c)  (d) 

46.     :
(A)  (B)  (C)  (D) 
           :
(a) D – C – B – A (b) C – B – A – D (c) A – B – C – D (d) D – A – B – C

47.           :
(a)  (b)  (c)  (d) 

48.              ?
(a)  (b)  (c)  (d) 

49.      :
(a)  (b)   (c)   (d)  

50.         ?
(a)  (b)  (c)  (d)    

51.         :      :
(a)   (b)   (c)   (d)    

52.        ?
(a)  (b)  (c)  (d) 

53.                   ?
(a)  (b)  (c)  (d) 
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54. Nilssonia represents
(a) Lower Gondwana (b) Middle Gondwana
(c) Upper Gondwana (d) None of the above

55. Which of the following is a Common Intertrappean Flora ?
(a) Williamsonia (b) Palmoxylon (c) Rhacopteris (d) Callipteris

56. Vertebraria is a
(a) Rhizome (b) Leaf (c) Stem (d) Flower

57. Land plants for the first time appeared during
(a) Ordovician (b) Carboniferous (c) Cambrian (d) Permian

58. Taxodont dentition is found in
(a) Cardita (b) Trigonia (c) Arca (d) Ostrea

59. Umbo pointing in posterior is called
(a) Opisthogyre (b) Prosogyre (c) Orthogyre (d) None of these

60. Desmodont dentition is found in
(a) Arca (b) Trigonia (c) Gryphea (d) All of these

61. Turrilites is a
(a) Gastropod (b) Brachiopod (c) Cephalopod (d) Bivalve

62. Fossil Physa principai is found in which of the following ?
(a) Bagh beds (b) Deccan trap Intertrappean
(c) Salt Range (d) Dhosa Oolite

63. All the cephalopods had become totally extinct by the end of
(a) Permian (b) Cretaceous (c) Palaeogene (d) None of these

64. The suture line which have rounded saddle and crenulated lobes is known
(a) Goniatite Type (b) Ceratite Type
(c) Nautiloid Type (d) None of the above

65. The ammonoids become extinct during which of the following periods ?
(a) Late carboniferous (b) End Cretaceous
(c) Late Jurassic (d) Late Triassic

66. Which amongst the following have the most complicated suture ?
(a) Trilobites (b) Gastropods (c) Ammonoids (d) Nautiloids

67. Madreporite plate is found in
(a) Ammonite (b) Graptolite (c) Trilobite (d) Echinoids
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54.     :
(a)   (b)   (c)   (d)    

55.          ?
(a)  (b)  (c)  (d) 

56.   
(a)  (b)  (c)  (d) 

57.        
(a)    (b)   
(c)    (d)   

58.     
(a)  (b)  (c)  (d) 

59.           
(a)  (b)  (c)  (d)    

60.      
(a)   (b)   (c)   (d)   

61.   
(a)   (b)   (c)   (d)  

62.           ?
(a)   (b)   (c)   (d)  

63.       :
(a)   (b)   (c)   (d)    

64.          ,   :
(a)  (b)  (c)  (d)    

65.            ?
(a)   (b)   (c)   (d)  

66.         ?
(a)   (b)   (c)   (d)  

67.     
(a)   (b)   (c)   (d)  
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68. Best suited habitat for echinoid is

(a) Clear sandy bottom (b) Brackish water

(c) Soft muddy bottom (d) None of the above

69. The skeleton of an entire coral colony is described as

(a) Corallite (b) Corallium (c) Columella (d) Calyx

70. Which one of the following Trilobite existed upto Permian times ?

(a) Olenus (b) Olenellus (c) Phacops (d) Phillipsia

71. Glabella is

(a) Anterior portion of Cephalon (b) Posterior portion of Cephalon

(c) Axial portion of Cephalon (d) None of the above

72. Trilobite become absolutely extinct before

(a) Late Triassic (b) Early Triassic (c) Early Permian (d) Late Permian

73. Sicula is found in

(a) Gastropoda (b) Cephalopoda (c) Graptolite (d) None of the above

74. Age of Graptolite is

(a) Cambrian to Permian (b) Devonian to Triassic

(c) Lower Ordovician to Lower Devonian (d) Devonian to Cretaceous

75. The earliest appearance of Elephas was in

(a) Pleistocene (b) Pliocene (c) Miocene (d) Oligocene

76. Hipparian is a genus belonging to

(a) Mammalia (b) Mollusca (c) Brachiopod (d) Proterozoa

77. Wooly mammoths are preserved as

(a) Fossil in toto (b) Permineralized skeleton

(c) Moulds and casts (d) Unchanged skeleton

78. The brain capacity of Homo sapiens sapiens is

(a) 1350 cc (b) 1450 cc (c) 1550 cc (d) 1650 cc

79. Coprolite is a

(a) Trilobite (b) Gastropoda (c) Cephalopoda (d) None of these

80. Conodonts are found in

(a) Cambrian to present (b) Upper Cambrian to Upper Triassic

(c) Ordovician to Eocene (d) Devonian to Upper Triassic
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68.       
(a)    (b)  
(c)    (d)     

69.          
(a)  (b)  (c)  (d) 

70.                ?
(a)  (b)  (c)  (d) 

71.  
(a)     (b)    
(c)     (d)     

72.        :
(a)    (b)   
(c)    (d)   

73.     :
(a)   (b)   (c)   (d)    

74.    
(a)    (b)   
(c)      (d)   

75.      
(a)  (b)  (c)  (d) 

76.       :
(a)  (b)  (c)  (d) 

77.     
(a)    (b)  
(c)    (d)  

78.         :
(a) 1350 cc (b) 1450 cc (c) 1550 cc (d) 1650 cc

79.   _____  
(a)  (b)  (c)  (d)    

80.  ______    
(a)     (b)      
(c)     (d)     
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PART – III

81. The rock units are currently arranged as
(a) Group, System, Series, Stage (b) System, Group, Stage, Series
(c) Series, Group, Stage, System (d) Stage, Group, System, Series

82. Which of the following is not a character of formation ?
(a) It is a mappable lithological unit.
(b) The scale of mapping is 1 : 50,000.
(c) It has uniform physio-chemical composition.
(d) It has no typical fossil assemblage.

83. One of the statements about craton is not true ?
(a) They contain oldest granitic bodies.
(b) They constitute a shield area.
(c) They are protocontinent.
(d) They are deformed by compressional tectonism.

84. Which of the following does not match correctly ?
(a) Lithostratigraphy – Supergroup (b) Time Unit – Period
(c) Time Stratigraphic Unit – Epoch (d) Biostratigraphy – Zone

85. The principle of uniformitarinism was proposed by
(a) Charles Darwin (b) William Smith
(c) Charles Lyell (d) James Hutton

86. Which amongst the following is considered as one of the most important supra-regional to
global Precambrian event ?
(a) Matuyama Event (b) Separation of East and West Gondwana
(c) Pan-African Event (d) Panjal igneous event

87. Name the period having the highest sea level among the following :
(a) Early Palaeocene (b) Late Cretaceous
(c) Early Jurassic (d) Late Devonian

88. The term Tethys Sea was proposed by
(a) Hall (b) Suess (c) Darwin (d) Smith

89. Which amongst the following sub-disciplines of stratigraphy is most and widely used in
hydrocarbon exploration studies ?
(a) Allostratigraphy (b) Magnetostratigraphy
(c) Seismostratigraphy (d) Lithostratigraphy

90. Who amongst the following proposed the Principle of Order of Superposition of strata ?
(a) Smith (b) Wagener (c) Steno (d) Lyell
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 – III

81.       :
(a) , , ,  (b) , , , 
(c) , , ,  (d) , , , 

82.     -     ?
(a)        (b)    1:50,000  
(c)   -    (d)        

83.            ?
(a)        (b)       
(c)      (d)        

84.            ?
(a)  –  (b)   –  ()
(c)    –  (d)  – 

85.         ?
(a)   (b)   (c)   (d)  

86.              ?
(a)  
(b)       
(c)   
(d)   

87.          :
(a)   (b)  
(c)   (d)  

88.        ?
(a)  (b)  (c)  (d) 

89.                ?
(a)  (b)  (c)  (d) 

90.             ?
(a)  (b)  (c)  (d) 
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91. Arrange the following from old to young :
(A) Gulcheru Quartzite (B) Muth Quartzite
(C) Tal Quartzite (D) Dhandraul Quartzite
(a) A – B – C – D (b) A – D – B – C
(c) D – C – B – A (d) B – A – D – C

92. Arrange the following from old to young :
(A) Closepet Granite (B) Erinpura Granite
(C) Bundelkhand Granite (D) Singhbhum Granite
(a) D – A – B – C (b) D – C – A – B
(c) D – B – C – A (d) A – B – C – D

93. Arrange the following stratigraphic units in the correct ascending order of age :
(A) Blaini Formation (B) Bundelkhand Granite
(C) Pakhal Formation (D) Rewa Group
(a) A – D – C – B (b) A – B – C – D
(c) B – A – C – D (d) D – A – B – C

94. The initiation by oceanic separation of Africa (West Gondwana) and India (East
Gondwana) was triggered by which of the following events ?
(a) Panjal Volcanic Event (b) Karoo Volcanic Event
(c) Rajmahal Volcanic Event (d) None of the above

95. Indicate the odd unit among the following in correlation context :
(a) Pakhal Formation (b) Semri Group
(c) Aravalli Supergroup (d) Bhima Group

96. Find the odd one out of the following :
(a) Bhander Sandstone (b) Rewa Sandstone
(c) Banganpalli Sandstone (d) Kaimur Sandstone

97. When was the near craton stability realized ?
(a) ~ 2100 Ma (b) ~ 2500 Ma (c) ~ 542 Ma (d) ~ 3800 Ma

98. Find the odd one out of the following :
(a) Pakhal Group (b) Bhima Group (c) Kurnool Group (d) Damuda Group

99. The geological age of the Tal Formation is
(a) Early Cretaceous (b) Early Cambrian
(c) Late Permian (d) Proterozoic

100. Indicate the odd unit amongst the following :
(a) Aravalli Mobile Belt (b) Himalayan Belt
(c) Eastern Ghat Mobile Belt (d) Satpura Mobile Belt
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91.           :
(A)   (B)  
(C)   (D)  
(a) A – B – C – D (b) A – D – B – C
(c) D – C – B – A (d) B – A – D – C

92.          :
(A)   (B)  
(C)   (D)  
(a) D – A – B – C (b) D – C – A – B
(c) D – B – C – A (d) A – B – C – D

93.            :
(A)   (B)  
(C)   (D)  
(a) A – D – C – B (b) A – B – C – D
(c) B – A – C – D (d) D – A – B – C

94.  ( )   ( )             ?
(a)    (b)   
(c)    (d)     

95.          :
(a)   (b)  
(c)   (d)  

96.     :
(a)    (b)   
(c)    (d)   

97.      ?
(a) ~ 2100 Ma (b) ~ 2500 Ma (c) ~ 542 Ma (d) ~ 3800 Ma

98.     :
(a)   (b)   (c)   (d)  

99.       :
(a)   (b)   (c)   (d) 

100.     :
(a)    (b)  
(c)     (d)   
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101. The close of the Triassic period marks the extinction of :
(a) Corals (b) Trilobites (c) Conodonts (d) Belemnoids

102. The oldest amongst the following traps is :
(a) Rajmahal traps(b) Deccan traps (c) Dalma traps (d) Panjal traps

103. Arrange the rocks of the given monuments in descending order of their origin :
(A) Red Fort (B) Taj Mahal
(C) Kanyakumari temple (D) Ajanta caves
(a) A-B-C-D (b) C-B-A-D
(c) D-C-B-A (d) B-A-D-C

104. The Kerguelen hot-spot is related to :
(a) Deccan Igneous Event (b) Separation of India and Madagascar
(c) Rajmahal Igenous Event (d) None of the above

105. Indicate the time interval of maximum coal reserves in India :
(a) Palaeocene (b) Eocene (c) Permian (d) Carboniferous

106. Where in India, the Triassic marine rocks are best developed ?
(a) in Kachchh (b) in Gondwana Rocks
(c) in Spiti area (d) in Lesser Himalaya

107. Find older to younger which of the following is correctly arranged :
(a) Talchir – Damuda – Mahadeva – Panchet
(b) Talchir – Damuda – Panchet – Mahadeva
(c) Talchir – Panchet – Damuda – Mahadeva
(d) Talchir – Mahadeva – Panchet – Damuda

108. One of the statement regarding Permian - Triassic (P-T) Boundary is not true ?
(a) Fossil conodonts have been found to be useful.
(b) Productus sp. indicate Permian age.
(c) It is exposed in Kashmir and Spiti.
(d) Panjal Volcanics are exposed at the top of the sequence.

109. Which among the following time durations closely matches with that of Precession
Milankovitch cycle ?
(a) 200,000 years (b) 100,000 years (c) 40,000 years (d) 23,000 years

110. The Himalayan Neogene rock succession makes :
(a) Subathu Group (b) Shiwalik Group
(c) Dagshai Formation (d) Kasauli Group

111. The Neogene - Quaternary Boundary in India is best studied on the basis of
(a) Planktonic Foraminifera (b) Mollusks
(c) Vertebrates (d) None of the above
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101.             ?
(a)  (b)  (c)  (d) 

102.           ?
(a)   (b)   (c)   (d)  

103.        /          :
(A)   (B)   (C)   (D)   
(a) A-B-C-D (b) C-B-A-D (c) D-C-B-A (d) B-A-D-C

104.  -    ?
(a)    (b) -  
(c)    (d)     

105.           :
(a)  (b)  (c)  (d) 

106.            ?
(a)   (b)    (c)    (d)   

107.             ?
(a)  –  –  –  (b)  –  –  - 
(c)  –  –  –  (d)  –  –  - 

108.    -      :
(a)       
(b)  .      
(c)        
(d)            

109.          -  ?
(a) 200,000  (b) 100,000  (c) 40,000  (d) 23,000 

110.             ?
(a)   (b)   (c)   (d)  

111.   -        -
(a)   (b) 
(c)  (d)     
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112. In the lesser Himalaya, which of the following is not exposed ?
(a) Krol formation (b) Subathu formation
(c) Nagri formation (d) Nagthat formation

113. Find the odd one of the following :
(a) Subathu formation (b) Tipam formation
(c) Karewa formation (d) Kasauli formation

114. From the older to younger, which of the following order is correct ?
(A) Nagri formation (B) Dhokpathan formation
(C) Tatrot formation (D) Kamaliyal formation
(a) A – B – C – D (b) D – C – B – A (c) D – A – B – C (d) C – D – A – B

115. In statement regarding Quaternary period, is not correct ?
(a) During this period, the Himalayan range attained height.
(b) There are evidences of acceleration of erosion due to uplift.
(c) The Tibetan landmass rose rapidly to elevation of 5000 m.
(d) Testimony of vertebrate do not reflect the elevation of Tibet.

116. Which of the statement about Quaternary period is not true ?
(a) There was general lowering of temperature in the northern hemisphere.
(b) Continental ice sheet formed around north pole.
(c) Alpine - Himalayan mountain were covered with ice.
(d) There are no evidence of morain in decadence of glaciers.

117. Name the time interval having the longest percent of hydrocarbon deposited in India ?
(a) Palaeogene (b) Neogene
(c) Jurassic - Cretaceous (d) Early Palaeozoic

118. Match the stratigraphic unit in list ‘X’ with correct group of list ‘Y’.
List-X List-Y

(A) Tipam (i) Delhi
(B) Alwar (ii) Shiwalik
(C) Nallamalai (iii) Surma
(D) Tatrot (iv) Cuddapah

(A) (B) (C) (D)
(a) (ii) (i) (iv) (iii)
(b) (ii) (iii) (iv) (i)
(c) (iv) (i) (ii) (iii)
(d) (iii) (i) (iv) (ii)

119. Find the odd one out :
(a) Nagthat Formation (b) Muth Quartzites
(c) Jaunsar Group (d) Deoban Formation

120. Find the odd one out :
(a) Kaimur group (b) Rewa group (c) Jodhpur group (d) Bhander group
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112.           ?
(a)   (b)   (c)   (d)  

113.      :
(a)   (b)   (c)   (d)  

114.              ?
(A)   (B)   (C)   (D)  
(a) A-B-C-D (b) D-C-B-A (c) D-A-B-C (d) C-D-A-B

115.            ?
(a)          
(b)                  
(c)        5000 .     
(d)              

116.             ?
(a)         
(b)          
(c) -    
(d)     ,        

117.            :
(a)  (b)  (c) – (d)  

118.  ‘X’      ‘Y’   /      
 – ‘X’  – ‘Y’

(A)  (i) 
(B)  (ii) 
(C)  (iii) 
(D)  (iv) 

(A) (B) (C) (D)
(a) (ii) (i) (iv) (iii)
(b) (ii) (iii) (iv) (i)
(c) (iv) (i) (ii) (iii)
(d) (iii) (i) (iv) (ii)

119.     :
(a)   (b)   (c)   (d)  

120.     
(a)   (b)   (c)   (d)  
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PART – IV

121. Bowen’s reaction series indicates the process of _____ in magma.

(a) Fractional crystallization (b) Gravity separation

(c) Liquid immiscibility (d) Filter pressing

122. Graphic texture shows crystallization at

(a) Triple point (b) Eutectic point

(c) Incongruent point (d) There is no such fixed point.

123. Komatite rock is rich in

(a) Sodium (b) Calcium (c) Magnesium (d) Titanium

124. Mushroom shaped igneous body is known as

(a) Lopolith (b) Phacolith (c) Laccolith (d) Bysmalith

125. Sr87/Sr86 ratio ranging between 0.705 – 0.708 in granite indicate

(a) Mantle origin (b) Metamorphic origin

(c) Metasomatic origin (d) Upper crust origin

126. Ophiolite mainly occurs in/on

(a) Abyssal plain (b) Mid Oceanic ridge

(c) Subduction zone (d) Transform fault

127. Batholiths are generally associated with which of the following ?

(a) Island arc (b) Folded structures

(c) Orogenic belt (d) Earthquake zone

128. Name the plutonic rock composed of sodic plagioclase and hornblende :

(a) Granodiorite (b) Gabbro (c) Granite (d) Diorite

129. Of the following, what is the evidence of devitrification ?

(a) Corona structure (b) Percussion figure

(c) Perlitic structure (d) Orbicular structure

130. In a sedimentary particle, the degree of roundness does not depend upon

(a) size of the particles (b) hardness of the particles

(c) specific gravity of the particle (d) degree of transportation
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 – IV

121.      ________      
(a)   (b)   (c)   (d)  

122.      
(a)   (b)  
(c)   (d)       

123.       :
(a)  (b)  (c)  (d) 

124.         -
(a)  (b)  (c)  (d) 

125.     Sr87/Sr86   0.705 – 0.708     
(a)   (b)   
(c)   (d)   

126.         :
(a)   (b)    
(c)   (d)  

127.            ?
(a)   (b)   (c)   (d)  

128.            ?
(a)  (b)  (c)  (d) 

129.         ?
(a)   (b)   (c)   (d)  

130.                ?
(a)    (b)   
(c)     (d)   
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131. Sandstones consisting of 60% quartz and 30-34% K-feldspar are called

(a) Arkose (b) Greywacke (c) Grit (d) Mudstone

132. The diagenesis of carbonate involves changes in

(a) Particle size (b) Porosity

(c) Anthigenic mineral growth (d) All of the above

133. The thickest planar cross-bedding are most often found in

(a) Alluvial deposits (b) Aeolian deposits

(c) Glacial deposits (d) Lake deposits

134. Conglomerate consisting of one type of pebble usually quartz or chert are called

(a) Polymict (b) Oligomict

(c) Intraformational (d) Petromict

135. Example of marine transgression is

(a) Binj formation (b) Kakara formation

(c) Subathu formation (d) All of the above

136. Due to which of the following mineral sand / sandstone show green colour ?

(a) Glauconite (b) Phlogopite (c) Prehnite (d) Tourmaline

137. Eroded and redeposited material from continuously growing mountain chain is best known
as

(a) Sediments (b) Fabric of rocks (c) Molasse (d) Fossil bed

138. Which of the following is the term for lime mud ?

(a) Aragonite (b) Microlite (c) Millerite (d) Micrite

139. Siltstone is example of which type of sediments ?

(a) Biogenic (b) Terrigenous (c) Non-clastic (d) Pyroclastic

140. The important method used to date the metamorphic rocks and Pre-cambrian rocks is

(a) U238 – Pb206 (b) Th232 – Pb208 (c) Rb87 – Sr87 (d) K40 – Ca40

141. The geochemical classification of elements first given by Goldschmidt is based on

(a) Chemical affinity (b) Distribution of meteorite

(c) Abundance (d) None of the above
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131.   60%   30-34% K- ,    
(a)  (b)  (c)  (d) 

132.             ?
(a)   (b) 
(c)    (d)  

133.         
(a)    (b)    (c)    (d)   

134.             ,  
(a)  (b)  (c)  (d) 

135.     
(a)    (b)    (c)    (d)  

136.        /     
(a)  (b)  (c)  (d) 

137.                    
 ?
(a)  (b)   (c)  (d)  

138.         ?
(a)  (b)  (c)  (d) 

139.       ?
(a)  (b)  (c) - (d) 

140.                ,  
(a) U238 – Pb206 (b) Th232 – Pb208 (c) Rb87 – Sr87 (d) K40 – Ca40

141.              ?
(a)   (b)   
(c)  (d)     
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142. About 90% of the earth is made of four elements which are

(a) Fe, O, Si, Ca (b) Fe, O, Mg, Si

(c) O, Al, Mn, Mg (d) Si, Al, Fe, O

143. Which of the following rock is a product of contact metamorphism ?

(a) Lamprophyre (b) Skarn (c) Charnockite (d) Granulite

144. Phosphorous and Carbon are what kind of elements ?

(a) Siderophile (b) Chalcophile (c) Atmophile (d) Lithophile

145. Find out the correct sequence in regional metamorphism :

(a) Slate → Phyllite → Schist → Gneiss

(b) Phyllite → Slate → Schist → Gneiss

(c) Schist → Phyllite → Slate → Gneiss
(d) Gneiss → Slate → Phyllite → Schist

146. The granulite facies are characterized by which of the following ?

(a) Presence of Mica (b) Absence of Mica

(c) Absence of Quartz (d) Absence of Orthoclase

147. Platinum group of elements mainly occur in

(a) Acidic rocks (b) Intermediate rocks

(c) Basic rocks (d) Ultramafic rocks

148. Forsterite and quartz react to form which of the following :

(a) Enstatite (b) Diopside (c) Olivine (d) Hypersthene

149. Out of the following which mineral belongs to high grade metamorphism ?

(a) Omphacite (b) Staurolite (c) Hypersthene (d) Prehnite

150. A rock in which state occurs when metamorphic transformation takes place ?

(a) Molten state (b) Solid state (c) Elastic state (d) All of these

151. Which of the following is moderate temperature pressure facies ?

(a) Zeolite facies (b) Blue schist facies

(c) Green schist facies (d) Eclogite facies
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142.    90%          ?
(a) Fe, O, Si, Ca (b) Fe, O, Mg, Si (c) O, Al, Mn, Mg (d) Si, Al, Fe, O

143.            ?
(a)  (b)  (c)  (d) 

144.         ?
(a)  (b)  (c)  (d) 

145.       -
(a)  →  →  →  (b)  →  →  → 
(c) →  →  →  (d)  →  →  → 

146.          ?
(a)    (b)   
(c)    (d)   

147.           :
(a)   (b)   (c)   (d)  

148.             ?
(a)  (b)  (c)  (d) 

149.              ?
(a)  (b)  (c)  (d) 

150.            ?
(a)     (b)   
(c)    (d)  

151.         -    ?
(a)   (b)   
(c)    (d)  
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152. Eclogite facies represents

(a) Low temperature-pressure (b) High temperature-pressure

(c) Moderate temperature-pressure (d) High temperature low pressure

153. Which of the following logging technique is best suited to estimate the shale content of
hydrocarbon reservoirs ?

(a) Resistivity (b) Sonic (c) Induction (d) Gamma ray

154. The richness of Petroleum basin in general is a function of

(a) Reservoir and trap (b) Reservoir and source

(c) Reservoir, trap and source (d) Reservoir, trap, source and migration

155. Coal with alternate bright and dull layers is called

(a) Vitrain (b) Fusain (c) Clairain (d) Durain

156. The sea floor has been mapped using this technique :

(a) Gravity method (b) Electrical method

(c) Magnetic method (d) Electromagnetic method

157. Geobotanical indicator plants for copper are

(a) Ocimum homblai (b) Acrocephalus robertic

(c) Gypsophila patrini (d) All of the above

158. Main disadvantages of underhand stoping mining method :

(a) Loss of fine ore is less. (b) Sorting of ore is not possible.

(c) Little support is required. (d) Miners efficiency is high.

159. For the formation of ‘Gas hydrate’, conditions required are
(a) Low temperature

(b) High pressure

(c) Methane concentration exceeds solubility limit

(d) All of the above

160. The conditions required for Bauxite formation :

(a) Hot and humid climate (b) Gentle topography

(c) Presence of high aluminium rocks (d) All of the above
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152.       ?
(a)    (b)  - (c)  - (d)  ,  

153.                      ?
(a)  (b)  (c)  (d)  

154.          
(a)    (b)   
(c) ,    (d) , ,   

155.            ?
(a)  (b)  (c)  (d) 

156.               :
(a)   (b)  
(c)   (d)  

157.      
(a)   (b)  
(c)   (d)  

158.        ?
(a)        (b)     
(c)     (d)    

159. ‘ ’      
(a)   (b)  
(c)         (d)  

160.         :
(a)     (b)  
(c)       (d)  
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PART – V

161. Spillway is related to :

(a) Landslide (b) Dam (c) Earthquake (d) Tunnel

162. Which property is determined by triaxial test ?

(a) Shear strength (b) Tensile strength

(c) Compressive strength (d) Modular of Elasticity

163. Which of the following rock types has highest compressive strength ?

(a) Sandstone (b) Granite (c) Marble (d) Limestone

164. Suitable site for construction of tunnel is :

(a) Anticlinal axis (b) Horizontal or low dipping formations

(c) Steeply dipping formations (d) None of the above

165. Which types of rocks provide an ideal foundation for a dam ?

(a) Rock of uniform physical strength (b) Alternating hard and soft rocks

(c) Soft and fractured rocks (d) All of the above

166. In road construction, the height and slope of the sloping wall of the cut should be kept
approximately proportional to :

(a) Compressive strength of the rock (b) Tensile strength of the rock

(c) Shear strength of the rock (d) None of the above

167. The ratio of lateral strain to longitudinal strain is known as :

(a) Poisson Ratio (b) Young Modulus (c) Bulk Modulus (d) Modulus of Rigidity

168. The dam built in the sloping sides of the river valley is known as :

(a) Abutments (b) Gallery (c) Crest of dam (d) Axis of dam

169. Which of the following has the highest compressive strength ?

(a) Quartz (b) Marble (c) Granite (d) Decrite

170. The deck, tower, cable anchorage are associated with :

(a) Cantilever bridge (b) Suspension bridge

(c) Simple beam bridge (d) Arch bridge

171. Earthquake magnitude is measured on which scale ?

(a) Wentworth (b) Mercalli (c) Richter (d) Kelvin

172. The most Tsunami prone stretch in the world today is

(a) Karakoram belt (b) Morb belt

(c) Circum – Pacific belt (d) All of the above



SBV 31 Series-A

 – V
161.    

(a)   (b)   (c)   (d)  

162.          ?
(a)   (b)   (c)   (d)  

163.            ?
(a)   (b)  (c)  (d) 

164.       
(a)   (b)    
(c)     (d)     

165.          ?
(a)       (b)     
(c)     (d)  

166.                      ?
(a)   (b)   (c)   (d)    

167.             -
(a)   (b)  
(c)   (d)  

168.             
(a)  (b)  (c)    (d)   

169.          ?
(a)  (b)  (c)  (d) 

170. , ,      
(a)   (b)   (c)    (d)  

171.         ?
(a)  (b)  (c)  (d) 

172.              ?
(a)   (b)  
(c) -  (d)  
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173. The earthquakes that originate at depths between 300 to 700 kms are called

(a) Deep-focus earthquake (b) Low-focus earthquakes

(c) Intermediate-focus earthquakes (d) None of the above

174. In earthquake the maximum damage to the man-made construction is caused by

(a) P-waves (b) S-waves (c) Love-waves (d) All of them

175. Which type of earthquakes are most common in subduction zone ?

(a) Deep (b) Medium (c) Shallow (d) None of them

176. The boundary between felsic and mafic rocks of the crust is known as

(a) Gutenberg (b) Connard (c) Moho (d) Caldera

177. Sudden and Vertical downward movement of mass is known as

(a) Landslide (b) Subsidence (c) Rock fall (d) Soil creep

178. Stereopair is used to study _______ features on an aerial photograph.

(a) 1 D (b) 2 D (c) 3 D (d) 4 D

179. How does water body appear in aerial photographs ?

(a) White (b) Blue (c) Black (d) All of these

180. Analysis of relief, slope, elevation, topography etc., can be done through

(a) DEM (b) LANDSAT (c) SPOT (d) All of these

181. The errors generally observed in aerial photographs are

(a) Pitch (b) Yaw (c) Tilt (d) All of them

182. The most common pollutants of groundwater pollution are :

(a) Nitrate, Chloride, Heavy metals, Hydrocarbon

(b) Sulphur, Chlorine, Heavy metals, Zinc

(c) Benzene, Zinc, Copper, Chromium

(d) None of the above

183. Hydrological cycle

(a) has beginning but does not end.

(b) ends with beginning.

(c) occurs continuously with nature.

(d) has three phases-Precipitation, Evaporation and Run-off
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173. 300  700 ..             -
(a)       (b)      
(c)      (d)     

174.            -
(a) P- (b) S- (c) - (d)  

175.            ?
(a)  (b)  (c)  (d)    

176.              -
(a)  (b)  (c)  (d) 

177.                
(a)  (b) - (c)   (d)  

178.          ________       
(a) 1 D (b) 2 D (c) 3 D (d) 4 D

179.           ?
(a)  (b)  (c)  (d)  

180. , ,               ?
(a) ... (b)  (c) .... (d)  

181.           
(a)  (b)  (c)  (d)  

182.        
(a) , ,  ,  (b) , ,  , 
(c) , , ,  (d)     

183.   
(a)       (b)     
(c)     (d)    – ,   
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184. Saline water intrusion in coastal aquifer can be controlled by

(a) Modification  in pumping pattern (b) Injection Barrier

(c) Artificial recharge (d) All of the above

185. Aquiclude is

(a) Permeable (b) Porous

(c) Porous and Permeable (d) Neither porous nor permeable

186. Best method for groundwater exploration is

(a) Electrical (b) Magnetic (c) Radioactive (d) None of these

187. Water in the zone of aeration is termed as :

(a) Connate water (b) Ground water (c) Vadose water (d) Soil water

188. The hydraulic gradient is the ratio of height difference to the horizontal distance.

(a) True (b) False (c) Partly true (d) Partly false

189. An artesian aquifer is

(a) Confined aquifer (b) Unconfined aquifer

(c) Semi-confined aquifer (d) All of them

190. Which one of the following is the Darcy’s law ?

(a) Kp =
P
Q

L
h =

i (b) K =

Q
A

L
h =

i

(c) K =
Q
A

L
h =

i (d) None of the above

191. MAP INFO is a type of

(a) Professional mapping software

(b) Satellite used in mapping

(c) Professional mineral information software

(d) None of the above

192. In a geological field survey, if you move towards dip direction, will encounter with

(a) Younger rocks (b) Older rocks

(c) Both of them (d) None of the above
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184.              -
(a)       (b)   
(c)    (d)  

185.   
(a)  (b) 
(c)    (d)      

186.       -
(a)  (b) 
(c)  (d)     

187.           
(a)   (b)  (c)   (d)  

188.              
(a)  (b)  (c)   (d)  

189.    
(a)   (b)   (c)   (d)  

190.           ?

(a) KP =
i

ν
h

L

Q

P
 (b) K =

i

ν
h

L

A

Q


(c) K =
i

ν
h

L

A

Q
 (d)     

191. MAP INFO    
(a)    (b)    
(c)      (d)     

192.                  ?
(a)   (b)  
(c)   (d)     
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193. In XRD analysis the sample should be in the form of

(a) Gas (b) Liquid (c) Thin film (d) Powder

194. Focussing of scanning Electron Microscope is done by :

(a) Optical lenses (b) Electrostatically

(c) Electromagnetically (d) Electroanalytically

195. In atomic absorption spectroscopy, atoms of the sample must be

(a) in excited state (b) in ground state

(c) in ionized state (d) in vibrational state

196. SEM sample analysis should be electrically

(a) Semi-conductive (b) Conductive

(c) Non-conductive (d) Neutral

197. In the unknown field, which of the technique can be used for locating oneself ?

(a) Ground Penetrating Radar System (GPRS)

(b) Global Positioning System (GPS)

(c) Electron Probe Micro Analyzer (EPMA)

(d) Magnetotelluric Surveying (MT)

198. Atomic Absorption Spectroscopy can be used to determine the concentration of the order of

(a) miligrams (b) micrograms (c) nanograms (d) grams

199. RADAR is a type of

(a) Active sensor (b) Passive sensor

(c) Both of the above (d) None of the above

200. ER mapper is used for making maps uses

(a) only Raster data

(b) only Vector data

(c) Both Raster and Vector data by combining

(d) None of the above
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193. XRD        -

(a)     (b)   

(c)      (d)    

194.          

(a)    (b)   

(c)    (d)   

195.          

(a)    (b)    

(c)    (d)   

196. SEM          -

(a)   (b)   

(c)  (d) 

197.                     
 ?

(a)     (GPRS) (b)    (GPS)

(c)     (EPMA) (d)   (MT)

198.           -

(a)   (b)   (c)   (d)  

199.    

(a)     (b)    

(c)   (d)     

200. ER           ?

(a)    (b)   

(c)         (d)     
______________________
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Space For Rough Work /     



SBV 39 Series-A
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